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Janie wants to further explore the distributive 'property. Which formula
should she use to plug in numbers and prove this property’s validity?

A as(b—c)=(a+b+c)

as(b-c)=(ab)+(a-0)

B
C as(+c)=(a*b)—-(a*c)
D

as(b-c)=(a*b)-(a*0)

Which property of operations is displayed in the problem below?

oS a w »

12+ (@de3)=(12+4)3
‘multiplicative identity property
distributive property
associative property for multiplication

-commutative property for multiplication

Which problem below is an example of the associative property of
addition?

‘A

B
C
D

5+(@+1)=(+4)+1
544+1=6+2+2
G+4)+1=G+4)+1

10+0=5+@+1)

Roxanne’s teacher gave her the following problem for homework.

3.2+6)=(3+2)+(3+6)

What property of operations is represented by the problem?

additive inverse property.
distributive property
associative property for addition

commutative property for additioh



Randall is testing the validity of the additive identity property. He will
plug in numbers to be sure the property proves to be true. Which
formula below will he use? -

at0=a
a*0=a
a+0=0
a—-0=0

Jack wants to test the mﬁltiplicative property of zero. He will plug in
numbers to be sure the property proves to be true. Which formula below
will he use?

c*0=c
c*0=0
ce0=1
Osc=c

Which set of numbers below shows the multiplicative inverse property?

12 +2 =24

16+4=64

2.1 =1
2

2:2=2
2

Which set of numbers below represents the multiplicative identity
property?

A 5-+1=5
B 5-1=1
C 5-1=0
D 5°1=6

Which set of numbers below represents the additive identity property?

A 6+1=7
B 6+0=6
C 6+0=0
D 6:0=6



Look at the problem below.

142 0=0 Which is equivalent to the following?

“Which property of operations is represented in the problem? 7-3+4-6

A 7-3+6-4

multiplicative property of zero 'B 7-4+3-6
associative property for multiplication | g ‘35 '42

multiplicative identity property

g aw >

commutative property for multiplication

Look at the equation below.

o1
Y=7

3

, 8+(8)=0
If the number sentence is true, then Y. |

is the — Whlch property of operations does this equation demonstrate?

additive identity ] . .

) commutative property of addition
additive inverse I property :
multiplicative identity i
l

multiplicative inverse

A
B associative property for addition
C additive inverse property

D

additive identity property

Which number sentence illustrates the | Darren used sticks to explore the property below.
commutative property of I '
multiplication?

3+2+1)=(3+2)+1

[T+ = T+ |

A 14+(13-7) =14 + (7-13)

B 14+(13-7)=13+14-7)

C 14+(138-7)=14-13 + 14.7 Which property of operations does this prove?
D 14 + (13 7) (14 + 13) 7 distributive property.
. additive identity proper
Which is an example of the associative by property
property of multiplication? additive inverse property
709 =0 associative property for addition
4+(7+73) =4-03+7) Which set of numbers below represents the distributive property?
(6-%)-8=3 4o(T-2)=(4T)—(4+2)

2 5+4+3=5+4+3

5.@3+8) = (53"
= 4(7-2)=(4+7+2)

4e(T=2)=(A+T)~(4+2)



Which problem below is an example of the commutative property of
multiplication? :

6+3=3+6
6‘°3=3'6 |
63=2+9

6-"?3=6-3

Which problem below is an example of the associative property of
multiplication? ‘

A (3:2)-6=3B-2)+6

B (3:2):6=3-(2°6)

C (3+2)+6=(3-2)+6

D 3+(26)=3+(2°6)




Properties- SOL 7.3

Name
Property Description Examples
Commutative Changing the order of the | 1+7=7+1
or 8x3=3x8
factors does
change the
or
Associative Changing the (9+3) + 7= 9+(3+7)
of numbers
does change | (6x2)x5=6x(2x5)
a or
Identity The ofzero |[9+0=9
and any number is that O+a=a
is called the
identity for addition.
The of 1 3x1=3
and any number is that 1xa=a
is called the
identity for multiplication.
Zero property of The 3x0=0
multiplication of any nonzero Oxa=0
and zero is
zero.

Distributive Numbers or |7x(3+4)=(7x3)+ (7x4)
within a set of 5x(12-1)= (5x12) — (5x1)
parentheses can be

by a
number outside the
Inverse The of a 2+(-2)=0
number and its
additive , or
opposite is
The of a 4xXYa=1
nonzero
and its

inverse , or reciprocal, is




Review of Properties

' Properties of numbers help you find sums, differences, and

products mentally.

fter Lesson 10-3

Property Description Examples
Commutative | Changing the order of the 1+7=7+1
addends or factors does not
X 3 =3X
change the sum or product. 8 4
Associative Changing the grouping of Q+3)+7=9+@B+17)
numbers does not change a 6% 2) X5 = 6 % (2 X 5)
sum or product.
Identity The sum of 0 and any number | 9 + 0 =19
is that number. Zero is called 0+a=a
the identity for addition.
The product of 1 and any 3x1=3
number is that number. One 1% a=a
is called the identity for ‘
multiplication.
| Zero property | The product.of any nonzero 3x0=0
-of . number and 0 is 0. 0xa=0
multiplication
Distributive Numbers added or subtracted | 7 X (3 + 4) = (7T %X 3)+ (7Tx4)
within a set‘of.parentheses 5% (12-1) = (5% 12) — (5 X 1)
can be multiplied by a
number outside the
parentheses.
Inverse The sum of a number and its | 2 + (=2) = 0
additive inverse, or opposite,
is 0.
The product of a nonzero
number and its multiplicative | 4 X % =1
inverse, or reciprocal, is 1.

@ Additional Topics
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(QL} +m) +3= 24+ (o +3> NMW}E\‘;FS tan be i"é’grou‘g ed
ond T ohil ge*r"‘%m Sawe

L % (a%3) = (Lx4a) x3
| ansSwer. (‘For K and 'f“)

241+9 = 9+2+1b The order of the numbers
can Chanﬁa and T shill

'ﬁc’r +he same aQnswer.

bxTx3 = TRGL*3
(For % and +)

2 (3+7) = 2(3) + 2(7) The number outside the
Parm%‘h;esc::s s multiphied wWith
both values inside the
- parentheses.

b(5-3) = (-8) = (©:3)

M-1=17  3y-l=%y . Any value multiplied by I
A is the sSame Value.

q ; <Q"~b‘>'+0 ,_;?(a.b) An\l \/aiu‘éw is the

same. Value.

- i:,“ = | | 5, b = | P\M’ \M\HQ Fnul‘ﬁph“ed by its
Opposﬁ‘“@ (rec {F)mcd) 'S ﬂ_

Any Value added to s opposite

('\h\iﬁrsc) s ﬁ

5:0=0  (xY):0=0 Aoy value muMiplied by

@ is equalto B
Lios0 @ard.ozo PR



